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H27.5.22 | 10XE | 10F%m 10%; EIEF
H27.7.28 | 10k:& | 10Xx& 10K ik | = |l
H27.9.14 | 10Xk;# | 10K % | 10K# | B2 R
H27.11.16 | 10%;E | 10k:E INE 3 MEEE i
H28.1.12 | 10%xi& | 10%k; E 3 BEE T
H28.3.10 | 10k:& | 10Fx:& NE 3 MEEE i
H28.5.19 | 10xiE | 10%k% | — E 3
H28.6.1 - - 19 —
H28.7.19 | 10F:% | 10%km | — 10F %
H28.9.12 | 10k:& | 10Xx:& - 105K
H28.11.16 | 10%:& | 10F; - E 3
H29.1.12 | 10k:& | 10X - 105K
H29.3.8 | 10%; 10%; - E 3
H29.5.19 | 10k:& | 10Fx:& - 105K
H29.7.21 | 10K:& | 10%K; - E 3
H29.9.21 | 10k:& | 10XxE - 105K
H29.11.15 | 10%X& | 10k& 16 10 | <1
H30.1.15 | 10k:& | 10Fx:& 16 22 E 35
H30.3.13 | 10X:& | 10Fx:% 27 12 E 3
H30.3.20 - - 26 - - BE FEF
H30.4.12 | 10X & 14 17 - - Be
H30.51 | 10X:;& | 10X 30 10K - BE
H30.5.10 - - 17 - — Be
H30.6.11 | 10k 15 29 - 10Km | X2
H30.7.24 | 10K& | 105k, 27 - 10xim | %2
H30.9.28 | 10k:& | 10Fx:& 18 10%% - 95 10K H | X2
H30.11.1 | 10K:&E | 10Fx:% 16 - 10Kl | X2
H30.11.12 - - 20 - - ReBF |
H31.1.24 | 10%k& | 1058 19 17 NE 3
H31.3.8 | 10%;4 | 10k:5 27 22 ES3:
H31.4.26 - - 21 - - Fa i
R1.5.30 | 10Fx&% | 10%xm 16 14 ES
R1.7.25 | 10Fx:& | 10%X:5 16 12 10K 75
R1.9.20 | 10Fx&E | 10%X& 12 20 10K &
R1.11.21 | 10%K:& | 10Fx:& 12%5 14 10K 75
R2.1.21 | 10Fk:& 14 12%:5 19 10%5
R2.34 | 10%X:5 24 15 34 10K
R2.3.12 - 15 - 24 - i
R2.4.30 = 10K - 12K - e
R2514 | 10k 16 15 12 1033
R2.7.21 | 10Fx:& | 10FX 5 12 12K 105K
R2.9.29 | 10%3% (101;5?;5) 1255 15 1055 | %3
R2.11.19 | 10k & | 10Fx& 12KH PES 10% 5
R3.1.26 | 10F&:= | 10%X:5 16 128 1058
R3.3.11 13 10K i 12K % 12K 10K
R3.528 | 10Fx 16 125 12K 1058
R3.7.15 | 10%:& | 10X& 12 12K 10K
R3.9.16 | 10%:= | 10%X:5 12%5 12K 1058
R3.11.17 | 10%iE | 10X:&E 12K 12K 10K
R4.1.26 | 10Fx:= | 10%X:5 12K; 14 10K
R4.3.15 | 10Kk | 10Kk _ 12K 12%5 10%K;
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R4531 | 105 11 12K 27 10K
R4.6.9 - - = 15 - A
R4.7.7 | 10kim 15 12 32 105F
R4.912 | 10%:5 19 12K 22 E 3
R4.11.7 | 10F:& 14 17 15 105K
R5.1.10 | 10%:5 17 PE S 12K E 3
R5.3.6 | 10k:& | 10%km 12% & 15 10%5
R5.5.22 | 10x:& | 10K; 12%; 12K E 3
R5.7.19 14 10X 17 16 105K
R5.9.19 | 10%F:% | 10X | 12F% 5 1233 E 3
R5.11.20 | 10Fx:& | 10%km 18 12% & 12K:5 25 10%5
R6.1.22 | 10x:E | 10K | 12%; 15 E 3
R6.3.7 | 10k:&E | 10FxE 12% ;& 12K 105K
R6.5.23 | 10%;% | 10X:5 | 14 26 1045
R6.7.19 | 10%:F | 10XF 15 15 RES
R6.9.19 | 10%F | 10XiH 12K 34 10K 5
R6.11.21 | 10%; 10K il 17 14 eI
R7.1.20 | 10%:& | 10XH 19 24 E3:
R7.3.6 | 10ki& 24 14 16 10%5
R7.5.21 | 10%; 10X5 12K 14 10K 55
R7.7.22 | 103k; 10K i 16 12K i eI




